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QUESTION 1

The electron shell closest to the nucleus of an atom can hold __________ electrons. 

A. 2 

B. 8 

C. 4 

D. 6 

Correct Answer: A 

 

QUESTION 2

What is the voltage across the load R and the current through R when the switch is open in the following circuit? 

A. The current is 0 A; the voltage is 10 V. 

B. The current is 2 A; the voltage is 10 V. 

C. The current is 2 A; the voltage is 2 V. 

D. The current is 0 A; the voltage is 0 V. 

Correct Answer: D 
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When the switch is open, no current flows. The voltage VR is I times R, which equals 0(5) = 0. 

 

QUESTION 3

The measurement "mil" refers to __________. 

A. a quarter or an inch 

B. one thousandth of an inch 

C. a millionth of an inch 

D. a hundredth of an inch 

Correct Answer: B 

A "mil" (from milli) refers to one thousandth. 

 

 

QUESTION 4

Resistance is measured in __________. 

A. Watts 

B. Volts 

C. Ohms 

D. Farads 

Correct Answer: C 

Resistance is measure in ohms. 

 

QUESTION 5

Two 8-ohm speakers are connected in parallel to an amplifier with a 24-volt output. What is the voltage across each
speaker? 

A. 6 volts 

B. 12 volts 

C. 18 volts 

D. 24 volts 

Correct Answer: D 
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Resistances in parallel have the same voltage across them. 
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